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CHER | CN | 42.9 | 51.4 | 33.8 | 46.8 | 49.3 | 44.3 | 46.0 | 46.9 | 43.9
CTB |-65.1 |-72.6 |-51.9 [-70.8 |-72.7 |-69.7 |-71.0 |-72.9 |-70.0
Cs0 |-63.0 |-68.0 |-52.4 |-67.5 |-69.3 |-65.3 |-67.8 |-70.3 |-65.6
VAW | 79.0 | 80.0 | 78.0 | 81.2 | 82.2 | 80.2 | 82.0 | 84.6 | 78.2
Difigk | CN | 51.8 | 52.6 | 51.0 | 52.1 53.1 51.0 | 49.1 51.9 | 50.8
CTB | -67.7 |-67.7 = -67.6 | -67.7 | -67.4 | -67.5 |-68.4 |[-66.7
CS0 [-69.0 |-73.0 |-65.0 |-68.9 |-72.7 [-65.0 |-64.4 |-65.4 |-63.7
WA _71.6 | 76.2 | 68.4 | 71.0 | 72.9 | 68.2 | 73.2 | 75.3 [ 70.5
EfER% | CN | 48.7 | 50.7 | 47.4 | 48.4 | 48.9 | 47.7 | 48.7 | 49.4 | 48.0
CTB |-67.3 |-70.3 |-64.7 |-69.2 [-69.7 |-69.0 |-70.3 |-70.7 [-70.0
| |CS0 |-58.8 |-63.0 |-52.8 |-63.3 [-65.5 |-60.0 |-66.3 |-66.6 |-65.9
Wb | 73.6 | 79.2 | 68.4 | 76.1 80.0 | 72.1 78.5 | 83.3 | 75.0
i CN | 47.5 | 50.4 | 44.4 | 48.5 50.2 | 47.0 | 48.1 50.1 47.2
CTB |-65.8 |-68.5 [-62.2 |-69.5 |-70.9 [-67.5 [-70.0 |-71.7 |-68.6
CS0 |-64.6 |-67.9 [-58.8 |-67.4 |-69.5 |-63.4 |-67.2 [-68.8 |-65.7
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0 7.54 15.27 40.6

5 7.13 | 15.04 41.6

18.5 0 6.02 14.85 41.7
-5 8.68 16.13 38.8

0 5.93 15.03 40.9

20.5 -5 6.31 14.68 41.2
-10 6.87 14.81 40

-10 6.64 15.12 40.9

22.5 -15 6.28 15.51 40.1

-20 6.44 15.5 37.4
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D/U DP DG |B{&S/N
(dB) (deg) | (&) (dB)
0 1.9 13.3 38.4
5 2.3 14.3 40.1
10 2.3 14.4 41.4
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=k [2Ene| Epha [RERk| 6 P 5

16.5Mz R T. 1 ok T.8
f

(L)’ THE 8.6 7.2 8.0
(128Ml§l}gl§ EREE 2.7 0.6 1:7
704}.11%‘% HT TR 2.0 —-5.8 —1.6
40MI§IMZH§ s —6.9 —-4.6 —-5.8
T B —11.8 —15.9 —11.8

2.5MH —_ . — - - .
(26MI§IZ§ FEsE 18.7 15.6 19.3
T Bz —25.4 —-27.1 —25.6
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C39 |IREHE D/u=14dB |39.4 49.9 131.27 0.57
=5 ®E (B) (BEARSAMb2) FYINS>NTSC-AMFBRFKE
Bz ¥ Rt BEgS /N |EFS/N |EFLVRN |BEBFE
FoYih (dB) (dB) (mV) (%)
cC42 |BEnl 43.9 56.4 290 0.60
C42 |TREEE D/U=10dB |43.0 55.7 290 0.58
c40 el 43.0 55.5 290 0.58
C40 IREBE D/U=10dB | 43.6 55.5 290 0.60
=6 & (B) (MEiAf1>r4) FTUVINVN>NTSC-AMFTFHRFHE
B2 HE RN BmEgS/N |[EFS/N |EBFLRN |[BEEE
FYU3h (dB) (dB) (mV) (%)
C42 BEnl 45.8 56.2 286 0.61
C42 |TEEGE D/U=10dB |45.2 56.2 286 0.61
C40 |#Eul 46.3 56.6 285 0.62
c40 LREEE D/U=10dB | 46.2 56.5 285 0.62
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